CIRCUNFERENCIA. SOLUCIONES.
1º.  a)  C (-1,3); r=5

b) C(-1-3); 
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c) C(3/4, -1); 
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2º.  a)  x2+y2-6x+2y-32 = 0

b) x2+y2+2x-2y-15 = 0

c) x2+y2 = 5

d) x2+y2-4x-2y-12 = 0

e) x2+y2+4x-2y-29 = 0

f) 7x2+7y2+11x-29y+4 = 0

g) 7x2+7y2-43x+13y-104 = 0

h) 8x2+8y2+10x-19y-52 = 0

3º.  18x2+18y2+56x-549y+2231 = 0

4º.  A (5,-4); B (-3,2); 
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5º.  A (0,4); B (2,0)
6º.  a)  
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      b)  
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      c)  
[image: image9.wmf](

)

5

2

,

5

2

-

Î

k


7º.   64x2+64y2-112x+224y-240 = 0

8º.  13x2+13y2-26x-52y-63 = 0

9º.  x2+y2-4x+6y -12= 0

10º.  92+9y2-78x-48y+184 = 0

11º.  P(A) = -8; A es interior a la circunferencia.

        P(B) = 0; B está sobre la circunferencia.

        P(C) = 8; C es exterior a la circunferencia.
12º.  a)  x-y+2 = 0

        b)  4x-9y-24 = 0
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